
SAP ABAP table ROIU_RV_VCR {Maintenance Structure: OIU_PR_VRC}

ROIU_RV_VCR

DN_NO [CHAR (20)]

WL_NO [CHAR (15)]

WC_NO [CHAR (5)]

MP_NO [CHAR (20)]

BUKRS [CHAR (4)]

VNAME [CHAR (6)]

DOI_NO [CHAR (5)]

CT_NO [CHAR (10)]

FRML_NO [CHAR (8)]

MP_TYPE_CD [CHAR (2)]

REF_DN_NO [CHAR (20)]

REF_VNAME [CHAR (6)]

REF_DOI_NO [CHAR (5)]

REF_MP_NO [CHAR (20)]

REF_WL_NO [CHAR (15)]

REF_WC_NO [CHAR (5)]

REF_BUKRS [CHAR (4)]

CT_TYPE_CD [CHAR (2)]

REF_CT_NO [CHAR (10)]

OIUCM_CONTRACT

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 ROIU_RV_VCR-REF_CT_NO = OIUCM_CONTRACT-VBELN 

0..N

0..N

OIU_CM_CTTYP

CT_TYPE_CD [CHAR (2)]

 ROIU_RV_VCR-CT_TYPE_CD = OIU_CM_CTTYP-CT_TYPE_CD 

0..N

0..N

OIU_DO_DI

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

VNAME [CHAR (6)]

DOI_NO [CHAR (5)]

 ROIU_RV_VCR-DOI_NO = OIU_DO_DI-DOI_NO 

0..N

1

 ROIU_RV_VCR-REF_DOI_NO = OIU_DO_DI-DOI_NO 0..N

1

OIU_DO_JV

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

VNAME [CHAR (6)]

 ROIU_RV_VCR-REF_VNAME = OIU_DO_JV-VNAME 
0..N

1

 ROIU_RV_VCR-VNAME = OIU_DO_JV-VNAME 0..N

1

OIU_PR_DN

MANDT [CLNT (3)]

DN_NO [CHAR (20)]

 ROIU_RV_VCR-DN_NO = OIU_PR_DN-DN_NO 
0..N

1
 ROIU_RV_VCR-REF_DN_NO = OIU_PR_DN-DN_NO 0..N

0..N

OIU_PR_MP

MANDT [CLNT (3)]

MP_NO [CHAR (20)]

 ROIU_RV_VCR-MP_NO = OIU_PR_MP-MP_NO 
0..N

1  ROIU_RV_VCR-REF_MP_NO = OIU_PR_MP-MP_NO 0..N

1

OIU_PR_MPTYP

MP_TYPE_CD [CHAR (2)]

 ROIU_RV_VCR-MP_TYPE_CD = OIU_PR_MPTYP-MP_TYPE_CD 

0..N

1

OIU_PR_WC

MANDT [CLNT (3)]

WL_NO [CHAR (15)]

WC_NO [CHAR (5)]

 ROIU_RV_VCR-REF_WC_NO = OIU_PR_WC-WC_NO 

0..N

1

 ROIU_RV_VCR-WC_NO = OIU_PR_WC-WC_NO 

0..N

1

OIU_PR_WELL

MANDT [CLNT (3)]

WL_NO [CHAR (15)]

 ROIU_RV_VCR-REF_WL_NO = OIU_PR_WELL-WL_NO 

0..N

1

 ROIU_RV_VCR-WL_NO = OIU_PR_WELL-WL_NO 

0..N

1

OIU_RV_CT

MANDT [CLNT (3)]

CT_NO [CHAR (10)]

 ROIU_RV_VCR-CT_NO = OIU_RV_CT-CT_NO 

0..N

0..N

OIU_RV_FRML

MANDT [CLNT (3)]

FRML_NO [CHAR (8)]

 ROIU_RV_VCR-FRML_NO = OIU_RV_FRML-FRML_NO 

0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 ROIU_RV_VCR-BUKRS = T001-BUKRS 

0..N

1

 ROIU_RV_VCR-REF_BUKRS = T001-BUKRS 

0..N

1


